Chapter 27 

1.
(a)
Fill in Table 1.

(a) Diminishing returns sets in with the _____ unit of land.


(c)
Negative returns sets in with the _____ unit of land.
Table 1




    Marginal

Units of

    Physical

Land
Output
    Product

1
  1



2
  3



3
  7



4
11



5
14



6
16



7
17



8
18



9
17



10
15


2.
(a)
Fill in Table 2.


(b)
Diminishing returns sets in with the _____ unit of labor.


(c)
Negative returns sets in with the _____ unit of labor.

Table 2




     Marginal

Units of
 
     Physical

Labor
Output
      Product

1
  2



2
  5



3
10



4
16



5
22



6
27



7
31



8
34



9
36



10
37



11
36



12
33


3.
(a)
Fill in Table 3.


(b)
Diminishing returns sets in with the _____ unit of labor.

(b) Negative returns sets in with the _____ unit of labor.


(d)
How many workers would you hire if the wage rate were:


(1)
$40?


(2)
$24?


(3)
$15?


(4)
$6?


(5)
$3?

Table 3





Marginal

  Total
   Marginal

Units of

Physical

Revenue       Revenue

Labor
Output
Product
Price
Product
    Product

  1
  5

6




  2
11

6




  3
16

6




  4
20

6




  5
23

6




  6
25

6




  7
26

6




  8
26

6




  9
25

6




10
23

6




4.
(a)
Fill in Table 4.

(b) Diminishing returns sets in with the _____ unit of land.


(c)
Negative returns sets in with the _____ unit of land.


(d)
How many units of land would you hire if the rent for each unit were:


(1)
$150?


(2)
$120?


(3)
$80?


(4)
$30?


(5)
$20?

Table 4







Marginal

Total
   Marginal


Units of

Product

Revenue
   Revenue

 Land
Output
Product
Price
Product
    Product

  1
  3

20




  2
  7

20




  3
12

20




  4
18

20




  5
24

20




  6
29

20




  7
33

20




  8
36

20




  9
37

20




10
37

20




11
36

20




12
34

20



5.
(a)
Fill in Table 5.


(b)
Diminishing returns sets in with the _____ unit of land.

(c) Negative returns sets in with the _____ unit of land.


(d)
How many units of land would you hire if the rent for each unit were:


(1)
$250?

(3)
$106

(5) $58


(2)
$205?

(4) $80

Table 5





Marginal

Total
Marginal

Units of

Physical

Revenue
Revenue


 Land
Output
Product
Price
Product
Product

  1
  4

50




  2
  9

48




  3
15

45




  4
22

40




  5
29

34




  6
35

31




  7
40

29




  8
43

26




  9
45

24




10
46

23




11
46

23




12
45

—




6.
(a)
Fill in Table 6.

(b) Diminishing returns sets in with the _____ unit of labor.


(c)
Negative returns sets in with the _____ unit of labor.


(d)
How many workers would you hire if the wage rate were:


(1)
$100?


(2)
$77?


(3)
$60?


(4)
$50?


(5)
$12?

Table 6







Marginal

  Total
Marginal


Units of

Physical

Revenue
Product

Labor
Output
Product
Price
Product
Product

  1
  3

20

  2
  8

19

  3
13

18

  4
19

17

  5
25

16

  6
30

15

  7
33

14

  8
35

13

  9
36

12

10
36

12

11
35

—

12

34


—

